
3V0-32.21

3V0-32.21 Dumps
3V0-32.21 Braindumps
3V0-32.21 Real Questions
3V0-32.21 Practice Test
3V0-32.21 Actual Questions

killexams.com

Vmware

Advanced Design VMware Cloud Management and Automation 
(VCAP-CMA)

https://killexams.com/pass4sure/exam-detail/3V0-32.21

https://killexams.com/exam-price-comparison/3V0-32.21


Question: 16

When designing a load-balanced vRealize Operations cluster, which three aspects should an architect consider?
(Choose three.)

A. Maximizing node participation in the handling of UI sessions and traffic
B. Providing high availability if any admin or data node fails
C. Reducing the number of certificates that must be managed for the nodes
D. Minimizing node latency in the handling of UI sessions and traffic
E. Simplifying the configuration of End Point Operations (EPOps) agents
F. Providing fault tolerance if any admin or data node fails

Answer: A,B,D,E

Explanation:

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.1/vRealize-Operations-Manager- Load-
Balancing.pdf (5)

Question: 17

What level of design will contain an automation platform, an operational monitoring platform, and a desktop
platform?



A. Physical Design
B. Conceptual Design
C. Detailed Design
D. Logical Design

Answer: D

Question: 18

An organization that extensively uses vRealize Orchestrator workflows for vRealize Automation integrations has the
following challenges:

Each VM provisioning request executes 50 workflows for integration with various third-party tools. Many developers
from different teams, unaware of each otherâs work, create and maintain the workflows. Whenever vRealize
Automation VM deployments fail, a lot of time and resources are spent debugging failures.

Which cloud management product will help speed up the organizationâs troubleshooting effects?

A. vRealize Operations Manager
B. vRealize Suite Lifecycle Manager
C. vRealize Log Insight
D. vRealize Network Insight

Answer: C

Question: 19

Which design decision should an architect make to support continuous availability in vRealize Operations?

A. Each Fault Domain should contain only remote collector nodes.
B. The vROps cluster should be separated into three Fault Domains.
C. Each Fault Domain should consist of primary, witness and remote collector nodes.
D. The vROps cluster should be separated into two Fault Domains.

Answer: D

Explanation:

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.1/vrealize-operations-manager-81-reference-
architecture-guide.pdf

Question: 20



A client wants to integrate a source control system to manage and maintain the cloud templates for their new
installation of vRealize Automation.

Which solution should be included as part of the vRealize Automation logical design?

A. Git
B. Subversion
C. vRealize SaltStack Config
D. Gerrit

Answer: A

Explanation:

Reference: https://docs.vmware.com/en/vRealize-Automation/8.3/Using-and-Managing-Cloud-Assembly/ GUID-
1847AC57-157A-4319-B425-A1A4731C9DDA.html
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